EAGRAROBREERT — 2 N— ABISH —F

202052748 (K) 2[EER4H

m C2=- ¥5%4mt ‘ [Xiz] % ‘ [eErsm] — | & (B) 14000 B
[xE£] 1 %:350,000F  2#%:98,000™  3#%&:49,000 M  43%&:35000MH  53#:28,000H
B\ BB BB Mk ME BF (&) 24 L (&%) | @BIBfr | £3F |SIEH | AK | AE | R FIR) / BE / £EHS
P e 4 | TR 1:33. -3-3-1 7. — 1 48 | FERE (EB)
11810 NRTFRIL—AHZX La 56.0 (:53)6 3-3-3 37.9 <+88) ME%) ij’;[i.j"l)7
LW—5—Yv 7 B:IRFUTIA-I REMS
o S BEHT : —1-1- = R (Fh)
2 3 SwLALT T —I 4 6 54% T 1.(361).5 1-1-1-1 | 39.1 4 (4+315) 3?#@&
L:Tw TRy b B XA TINA FE] BB 4535
PRV Heh% :34. -10-5~ . - g (F)
355 | X1V vFay -V 1(324>8 1010 388 ’ lzgf T
L:d—IWRT7Y 21—l Biky b3 —F1 L &R
o= A > 8 | HHE&L 1:34.8 2-2-2-1 [39.3| — 6 464 | HEB (FEl)
4l7lg| /—2rE=F 127 77| 5.0 (NF) © |BAmE
RiwyUsgdyk B:ITN—3I>TH- BEX &Y K
.= AR -35. 55— 7| - E@mAE (T
5 4 Iy RF—Jb 4 4 ﬁsiao 1(345)5 5-5-5-6 | 39.7 7 (4_721) ilicpn
LTANWNTTFY— B:¥v AL KU—~L4 EvJILy RT77—L4
. = £ 5 | EREE 1:35.7 7-7-4-5 [39.9| — 2 474 | EtEwE (FEl)
6111 EXXAKNTZ - 56.0 (1 1/2) 1) (#) 39227V —-R8>4—FK
A:Smart Strike £ :Every Cloud Kendal | E. Hansen
: . # 5 | BARKH 1:35.8 6-6-8-8 |39.9| — 5 441 | HEEM—R (ER)
71717 EILRTA 2 5[;1_0 (1/2) +1) 7)E|/t‘/I¥ (#)
/TN BRI ZAXvOL "HET7—L
R Kht—E . —0—10— = WAk (FakR)
glglg|lEITV>T7z7VU— AaD 1'(346)'4 o010 401 ’ ;1_530) EEES
L:xF1z=gr—2 B:vA4x/ I B Bz
s N 4 | REEBELIR 1:36.4 -8-9~ 40.4| — 407 | WEEE (FhR)
9 6l F77*x # 7550 (,?% 5898 |40 8 (_05) THES
RiXyTFoho—L Bih—tlA LAY r BEZZY K
HAHE= :36. —4-5- . — =@z (BM)
10 2 J—H AT — 7 N 1(3;5)9 4-4-5-7 | 41.2 10 (4_616) Z%EHE
LG4 TATv— B/ —HFLIv b YA 785
@ 1 —F—@EBIEf
1T=7r= 3,8,10,2,4,7,1,6,9,5
2a=5F= 3,8,10,2,4,7,1,6,9,5
33—+— |3,8,10,1,(2,4,5),7,6,9
AT =zF= (3,8,10),5,1,4,2,(6,7),9
[ /N
B 10 1404 714K 3-10 200M e E 3-8 650 JEE 3-5-10 860F
B B 10 110 5-10 230M B = 3-10 710M 3B 10-3-5 2,910
3 180M4 3-5 650M B H 10-3 770M
0 170

ARICOVWTRDTEEERROODE. TR LI,




